3M9a - Add and subtract amounts of money to give change, using both £ and p in practical contexts

How many pence altogether?

How many pence altogether?

How much more money is needed to make £5 in total?

() £4 and 28p () £3 and 48p () £4 and 38p () £3 and 38p
How many more pence are needed to make £17
Greengrocer Newsagents

Item Price Item Price

Orange 50p Bag of crisps 45p

Apple 20p Bar of chocolate 85p

Mango 60p Bag of sweets 75p

Pineapple £2 Bottle of water 95p

Melon £1 Newspaper £1

Raspberries £3 Magazine £4

Pear 40p Comic £3

Bunch of bananas 80p Birthday card £2

You buy an apple and a pineapple. You buy a newspaper and a bag of sweets.

How much change do you get from £5? How much change do you get from £10?

) £2 and 20p ) £3 and 80p ) £2 and 80p ) £3 and 20p ) £8and 35p ) £7 and 35p ) £9 and 25p () £8 and 25p




